

5/10/18

Exponential Series

$$e^x = 1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \frac{x^4}{4!} + \dots$$

Put $x=1$

$$e = 1 + \frac{1}{1!} + \frac{1}{2!} + \frac{1}{3!} + \dots$$

$$= 1 + 1 + 0.5 + \dots$$

$$= 2.7182$$

$$\lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = e$$

$$(a+b)^n = {}^nC_0 a^n + {}^nC_1 a^{n-1} b + {}^nC_2 a^{n-2} b^2 + \dots$$

$$= \left[1 + {}^nC_1 \left(\frac{1}{n}\right) + {}^nC_2 \frac{1}{n^2} + \dots \right]$$

$$= \left[1 + 1 + \frac{n(n-1)}{2!} \frac{1}{n^2} + \frac{n(n-1)(n-2)}{3!} \frac{1}{n^3} + \dots \right]$$

$$\left(1 + \frac{1}{n}\right)^n = 1 + 1 + \frac{(1 - 1/n)}{2!} + \frac{(1 - 1/n)(1 - 2/n)}{3!} + \dots$$

$$\lim_{n \rightarrow \infty} \left(1 + \frac{1}{n}\right)^n = \left[1 + 1 + \frac{1}{2!} + \frac{1}{3!} + \dots \right]$$
$$= e$$

* Prove that

$$a^x = 1 + x \log a + \frac{x^2 (\log a)^2}{2!} + \frac{x^3 (\log a)^3}{3!} + \dots$$

$$e^x = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots$$

$$e^{x \log a} = \left[1 + (x \log a) + \frac{(x \log a)^2}{2!} + \dots \right]$$

$$e^{\log a^x} = \left[1 + (x \log a) + \frac{x^2 (\log a)^2}{2!} + \dots \right]$$

$$a^x = \left[1 + (x \log a) + \frac{x^2 (\log a)^2}{2!} + \dots \right]$$

* Results

$$(1) e^x = \left[1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots \right]$$

$$(2) e^{-x} = \left[1 - \frac{x}{1!} + \frac{x^2}{2!} - \frac{x^3}{3!} + \dots \right]$$

$$(3) e^x + e^{-x} = 2 \left[1 + \frac{x^2}{2!} + \frac{x^4}{4!} + \dots \right]$$

$$\frac{e^x + e^{-x}}{2} = \left[1 + \frac{x^2}{2!} + \frac{x^4}{4!} + \dots \right]$$

$$(3) \quad \frac{e^x + e^{-x}}{2} = \left[1 + \frac{x^2}{2!} + \frac{x^4}{4!} + \dots \right]$$

$$(4) \quad \frac{e^x - e^{-x}}{2} = \left[\frac{x^1}{1!} + \frac{x^3}{3!} + \dots \right]$$

$$(5) \quad \frac{e + e^{-1}}{2} = \left[1 + \frac{1}{2!} + \frac{1}{4!} + \dots \right]$$

$$(6) \quad \frac{e - e^{-1}}{2} = \left[\frac{1}{1!} + \frac{1}{3!} + \frac{1}{5!} + \dots \right]$$

* Q. write the expansion of

$$\frac{e^{3x} - e^{-3x}}{2} = \left[\frac{1}{1!} + \frac{3x}{1!} \right]$$

$$e^{3x} = \left[1 + \frac{3x}{1!} + \frac{3^2 x^2}{2!} + \dots \right]$$

$$e^{-3x} = \left[1 - \frac{3x}{1!} + \frac{3^2 x^2}{2!} - \dots \right]$$

$$e^{3x} - e^{-3x} = 2 \left[\frac{3x}{1!} + \frac{3^2 x^2}{3!} + \dots \right]$$

* $\frac{e^{5x} + e^x}{e^{2x}} =$

Q. Show that

$$\frac{e-1}{e+1} = \frac{1}{2!} + \frac{1}{4!} + \frac{1}{6!} + \dots$$

$$\frac{1}{1!} + \frac{1}{3!} + \frac{1}{5!} + \dots$$

$$\left[\frac{e+e^{-1}}{2} - 1 \right] = \left[1 + \frac{1}{2!} + \frac{1}{4!} + \frac{1}{6!} + \dots \right] - 1$$

$$\frac{e^2 + 1 - 2e}{2e} \quad \text{--- (i)}$$

$$\left[\frac{1}{1!} + \frac{1}{3!} + \frac{1}{5!} + \dots \right]$$

$$= \frac{e - e^{-1}}{2} = \text{scribble}$$

$$\frac{e^2 - 1}{2e}$$

$$= \frac{e^2 + 1 - 2e}{e^2 - 1}$$

$$= \frac{e-1}{e+1}$$

$$-x! = \infty$$

*Period that

$$1 + \frac{1+2}{2!} + \frac{1+2+3}{3!} + \frac{1+2+3+4}{4!} + \dots = \frac{3e}{2}$$

$$t_n = \frac{1+2+3+4+\dots+n}{n!} = \frac{n(n+1)}{2n!}$$

Remove
n from
the numerator

$$= \frac{n+1}{2(n-1)!} = \frac{n+1+2}{2(n-1)!}$$

$$= \frac{1}{2(n-2)!} + \frac{1}{(n-1)!}$$

$$= \frac{1}{2} \left[\frac{1}{(n-2)!} + \frac{2}{(n-1)!} \right]$$

$$t_1 = \frac{1}{2} \left[-\frac{1}{\infty} + \frac{2}{0!} \right] = \frac{1}{2} [0+2]$$

$$t_2 = \frac{1}{2} \left[1 + \frac{2}{1!} \right]$$

$$t_3 = \frac{1}{2} \left[\frac{1}{2!} + \frac{2}{1!} \right]$$

$$t_{1+2+3} = \frac{1}{2} \left[1 + \frac{1}{1!} + \frac{1}{2!} + \dots \right] + \left[1 + \frac{1}{1!} + \frac{1}{2!} + \dots \right]$$

$$= \frac{e}{2} + e = \frac{3e}{2}$$

Ques: $9 + \frac{16}{2!} + \frac{27}{3!} + \dots$

$$S = 9 + 16 + 27 + \dots + t_n$$

$$S = 9 + 16 + 27 + \dots + t_{n-1} + t_n$$

$$t_n = 9 + [7 + 11 + \dots + t_{n-1}]$$

$$= 9 + \left[\frac{n-1}{2} (14 + (n-2)4) \right]$$

$$= 2n^2 + n + 6$$

$$T_n = \frac{2n^2 + n + 6}{n!} = \frac{2(n)(n+1) + 3n + 6}{n!}$$

$$= \frac{2}{(n-2)!} + \frac{3}{(n-1)!} + \frac{6}{n!}$$

$$T_1 = 0 + 3 + \frac{6}{1!}$$

$$T_2 = 2 + \frac{3}{1!} + \frac{6}{2!}$$

$$T_3 = \frac{2}{1!} + \frac{3}{2!} + \frac{6}{3!}$$

$$= 2 \left[1 + \frac{1}{1!} + \dots \right] + 3 \left[1 + \frac{1}{1!} + \frac{1}{2!} + \dots \right]$$

$$+ 6 \left[\frac{1}{1!} + \frac{1}{2!} + \frac{1}{3!} + \dots \right]$$

$$= 2e + 3e + 6e - 6$$

$$= 11e - 6$$

$$\left(ncr = \frac{n!}{n!(n-r)!} \right)$$

$$npr = \frac{n!}{(n-r)!}$$

Que 2

$$\sum_{n=2}^{\infty} \frac{nc_2}{(n+1)!}$$

Find this value of this Series

Remove n from

$$\frac{n(n-1)}{2! (n+1)!}$$

$$\frac{n((n+1)-2)}{2! (n+1)!}$$

$$\frac{1}{2!} \left[\frac{n(n+1)}{2! (n+1)!} - \frac{2n}{(n+1)!} \right]$$

$$\frac{1}{2!} \left[\frac{1}{(n+1)!} - \frac{2((n+1)-1)}{(n+1)!} \right]$$

$$\frac{1}{2!} \left[\frac{1}{(n+1)!} - \frac{2}{n!} + \frac{2}{(n+1)!} \right]$$

$$T_1 = \frac{1}{2!} \left[\frac{1}{1!} - \frac{2}{2!} + \frac{2}{3!} \right]$$

$$T_2 = \frac{1}{2!} \left[\frac{1}{2!} - \frac{2}{3!} + \frac{2}{4!} \right]$$

$$(1+x)^n = n_{c0} + n_{c1}x + n_{c2}x^2 + \dots + n_{cn}x^n$$

$$T_1 + T_2 + \dots$$

$$\frac{1}{2!} \left[\left(\frac{1}{1!} + \frac{1}{2!} + \dots \right) - 2 \left(\frac{1}{2!} + \frac{1}{3!} + \dots \right) + 2 \left(\frac{1}{3!} + \frac{1}{4!} + \dots \right) \right]$$

$$= \frac{1}{2} \left[(e-1) - 2(e-2) + 2(e-2-\frac{1}{2}) \right]$$

$$= \frac{1}{2} [e-1-2e+4+2e-4-1]$$

$$= \frac{1}{2} [e-2]$$

ii. $\sum_{n=1}^{\infty} \frac{n_{c0} + n_{c1} + n_{c2} + \dots + n_{cn}}{n_{pn}}$

$$(1+x)^n = [n_{c0} + n_{c1}x + n_{c2}x^2 + \dots + n_{cn}x^n]$$

$$x^n = (n_{c0} + n_{c1} + \dots + n_{cn})$$

$$tn = \frac{2^n}{n!}$$

$$\left[\frac{2}{1!} + \frac{2^2}{2!} + \frac{2^3}{3!} + \dots \right]$$

$$\left[1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots \right]$$

$$e^x = 1 + x + \frac{x^2}{2!} + \dots$$

$$(e^2 - 1)$$

* Logarithm Series:

$$1) \log(1+x) = \left[x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots \right]$$

Replace $x = -x$

$$2) \log(1-x) = - \left[x + \frac{x^2}{2} + \frac{x^3}{3} + \frac{x^4}{4} + \dots \right]$$

$$3) \frac{\log(1+x)}{\log(1-x)} = \frac{\log(1+x) - \log(1-x)}{\log(1-x)}$$

$$\frac{\log(1+x)}{\log(1-x)} = \left[\frac{2x + \frac{x^3}{3} + \frac{x^5}{5} + \dots}{\log(1-x)} \right]$$

$$4) \text{ Put } x = \frac{1}{n}$$

$$\frac{\log(n+1)}{\log(n)} = 2 \left[\frac{1}{n} + \frac{1}{n^3 3} + \frac{1}{n^5 5} + \dots \right]$$

Q. Prove that $\left[\frac{1}{2} - \frac{1}{2} \cdot \frac{1}{2^2} + \frac{1}{3} \cdot \frac{1}{2^3} - \dots \right]$

$$\log(1+x) = \left[x - \frac{x^2}{2} + \frac{x^3}{3} - \dots \right]$$

$$\log\left(1 + \frac{1}{2}\right) = \log\left(\frac{3}{2}\right)$$

Q. Prove that $\left[\frac{1}{4} - \frac{1}{2} \cdot \frac{1}{4^2} + \frac{1}{3} \cdot \frac{1}{4^3} - \dots \right]$

$$= \frac{1}{5} - \frac{1}{2} \cdot \frac{1}{5^2} + \frac{1}{3} \cdot \frac{1}{5^3} - \dots$$

Solⁿ,

$$\log\left(1 + \frac{1}{4}\right) = \log\left(\frac{5}{4}\right) \quad \text{--- (1)}$$

$$= \log(5) - \log(4)$$

$$= \log\left(\frac{5}{4}\right)$$

$$= \log\left(\frac{5}{4}\right) \quad \text{--- (2)}$$

$$\underline{Q.} \quad \frac{a-b}{a} + \frac{1}{2} \left(\frac{a-b}{a} \right)^2 + \frac{1}{3} \left(\frac{a-b}{a} \right)^3 + \dots = \log \left(\frac{a}{b} \right)$$

$$= - \log \left(1 - \left(\frac{a-b}{a} \right) \right)$$

$$= - \log \left(\frac{b}{a} \right)$$

$$= \log \left(\frac{a}{b} \right)$$

$$\underline{Q.} \quad 1 + \frac{1}{3} \left(\frac{1}{2} \right)^2 + \frac{1}{5} \left(\frac{1}{2} \right)^4 + \dots = \log 3$$

$$= 2 \cdot \frac{1}{2} \left[1 + \frac{1}{3} \left(\frac{1}{2} \right)^2 + \dots \right]$$

$$= 2 \left[\frac{1}{2} + \frac{1}{3} \left(\frac{1}{2} \right)^3 + \frac{1}{5} \left(\frac{1}{2} \right)^5 + \dots \right]$$

$$= \log \left(\frac{1 + \frac{1}{2}}{1 - \frac{1}{2}} \right)$$

$$= \log 3.$$

$$\underline{Q.} \quad \log (1 + 3x + 2x^2) =$$

$$= 3x - \frac{5}{2}x^2 + 3x^2 - \frac{17}{4}x^4 + \dots$$

$$= \log((2x+1)(x+1))$$

$$= \log(2x+1) + \log(x+1)$$

$$= \left[2x - \frac{(2x)^2}{2} + \frac{(2x)^3}{3} + \dots \right] +$$

$$+ \left[x - \frac{x^2}{2} + \frac{x^3}{3} - \dots \right]$$

$$= 3x - \frac{5x^2}{2} + 3x^2 = \underline{\underline{\text{H.P.D.}}}$$

Qw! If $y = 2x^2 - 1$

$$\frac{1}{x^2} + \frac{1}{2x^4} + \frac{1}{3x^6} + \dots = \frac{2}{y} + \frac{2}{3y^2} + \frac{2}{5y^3} + \dots$$

$$\text{RHS} = 2 \left[\frac{1}{y} + \frac{1}{3y^3} + \frac{1}{5y^5} + \dots \right]$$

$$= \log\left(\frac{1+\frac{1}{y}}{1-\frac{1}{y}}\right) = \log\left(\frac{1+\frac{1}{y}}{1+\frac{1}{y}}\right)$$

$$= \log\left(\frac{y+1}{y-1}\right)$$

$$\log\left(\frac{2x^2}{2x^2-2}\right) = \log\left(\frac{x^2}{x^2-1}\right)$$

$$= -\log\left(\frac{x^2-1}{x^2}\right)$$

$$= -\log\left(1 - \frac{1}{x^2}\right)$$

$$= \frac{1}{x^2} + \frac{1}{2^4 2} + \frac{1}{x^6 3} + \dots$$

Que: $2 \log n - \log(n+1) - \log(n-1)$

$$= 2 \left[\frac{1}{2n^2-1} + \frac{1}{3(2n^2-1)^3} + \frac{1}{5(2n^2-1)^5} + \dots \right]$$

Let $\frac{1}{(2n^2-1)} = y$

$$= \log\left(\frac{1+y}{1-y}\right)$$

$$= \log\left(\frac{1 + \frac{1}{2n^2-1}}{1 - \frac{1}{2n^2-1}}\right)$$

$$= \log\left(\frac{2n^2}{2n^2-2}\right)$$

$$= \log\left(\frac{n^2}{n^2-1}\right)$$

$$= \log \left(\frac{n^2}{(n+1)(n+1)} \right)$$

$$= \log(n^2) - \log(n+1) - \log(n+1)$$

$$= 2 \log n - \log(n+1) - \log(n+1)$$

Q. $\log 10 = 3 \log 2 + \frac{1}{4} - \frac{1}{2} \left(\frac{1}{4} \right)^2 - \frac{1}{3} \left(\frac{1}{4} \right)^3$

$$= \log 2^3 + \left[\log \left(1 + \frac{1}{4} \right) \right]$$

$$= \log 2^3 + \log \left(\frac{5}{4} \right)$$

$$= \log 8 + \log 5 - \log 4$$

$$= \log \left(\frac{8 \cdot 5}{4} \right) = \log 10 \text{ Ans}$$

Que: $\log \left(1 + \frac{1}{n} \right)^n = \left(1 - \frac{1}{2(n+1)} - \frac{1}{2 \cdot 3(n+1)^2} - \frac{1}{3 \cdot 4(n+1)^3} \right)$

let $x = \frac{1}{n+1}$

$$= \left[1 - \frac{x}{2} - \frac{x^2}{2 \cdot 3} - \frac{x^3}{3 \cdot 4} - \dots \right]$$

$$= \left[1 - \left(1 - \frac{1}{2}\right)x - \left(\frac{1}{2} - \frac{1}{3}\right)x^2 - \left(\frac{1}{3} - \frac{1}{4}\right)x^3 - \dots \right]$$

$$- \left[1 + x + \frac{x^2}{2} + \frac{x^3}{3} + \dots \right] + \left[1 + \frac{x}{2} + \frac{x^2}{3} + \dots \right]$$

$$= -x \left[1 + \frac{x}{2} + \frac{x^2}{3} + \dots \right] + \left[1 + \frac{x}{2} + \frac{x^2}{3} + \dots \right]$$

$$= \left[1 + \frac{x}{2} + \frac{x^2}{3} + \dots \right] [1 - x]$$

$$\left[\frac{1}{x} - 1 \right] x$$

$$= \left[x + \frac{x^2}{2} + \frac{x^3}{3} + \dots \right] \left[\frac{1}{x} - 1 \right]$$

$$(n+1-x) \left(\frac{1}{n+1} \right) \left(-\log \left(1 - \frac{1}{n+1} \right) \right)$$

$$= \frac{n}{n+1} \left(-\log \left(\frac{n}{n+1} \right) \right)$$

$$= -n \log \left(\frac{n}{n+1} \right)$$

→ Partial differentiation.

149

21/10/01

$$= \log\left(\frac{n}{n+1}\right)^n$$